

A14

ON HEAT KERNEL LOGARITHMIC SOBOLEV
INEQUALITIES

BRUCE K. DRIVER

*Department of Mathematics, 0112, University of California, San Diego
La Jolla, CA 92093-0112, USA*

YAOZHONG HU

*Institute of Mathematical Sciences, Academia Sinica
Wuhan, China 430071 and
Department of Mathematics, University of Oslo
N-0316, Oslo, Norway*

This note is devoted to a pedagogical proof of logarithmic Sobolev inequalities on compact Riemannian manifolds when the reference measure is taken to be a heat kernel measure. The inequalities explained in this paper seems to have been first discovered by D. Bakry and M. Ledoux⁷.

1 Introduction

Let M be a finite dimensional connected compact^a manifold without boundary, (\cdot, \cdot) be Riemannian metric on M , Δ be the Laplacian on M , Ric be the Ricci tensor of the Levi-Civita covariant derivative ∇ , Z be a smooth vector field on M , and $L \equiv \Delta + Z$. We write $P_t = e^{tL/2}$ for the associated Markov semigroup and define

$$\rho(v, w) \equiv \text{Ric}(v, w) - (\nabla_v Z, w), \quad \forall v, w \in T_m M \text{ and } m \in M. \quad (1.1)$$

The purpose of this paper is to give a reasonably self contained proof of the following theorem. For applications of this theorem to path and loop spaces, see Hsu¹⁵, Wang¹⁹, and Driver and Lohrenz¹².

Theorem 1.1 (Bakry and Ledoux) *Choose $C \in \mathbb{R}$ such that $\rho(v, v) \geq -C(v, v)$ for all $v \in TM$. Then for all $f \in C^\infty(M)$ and $T > 0$,*

$$P_T(f^2 \log f^2) \leq 2\{(e^{CT} - 1)/C\}P_T|\bar{\nabla}f|^2 + P_T f^2 \cdot \log P_T(f^2), \quad (1.2)$$

where $\bar{\nabla}f$ denotes the gradient of f and $0 \log 0 = 0$ by definition.

^aThe proof for complete Riemannian manifolds involves a number of technicalities which we wish to avoid in this expository note.

Notation 1.2 For each $o \in M$ and $T > 0$, let $\mu_{o,T}$ denote the probability measure on M such that

$$\mu_{o,T}(f) \equiv \int_M f d\mu_{o,T} = (P_T f)(o) \quad \forall f \in C^\infty(M). \quad (1.3)$$

Let $\mathcal{E}_{o,T}$ denote the closure of the symmetric quadratic form $\mathcal{E}_{o,T}^0$ on $C^\infty(M)$ determined by

$$\mathcal{E}_{o,T}^0(f, f) = \int_M |\bar{\nabla} f|^2 d\mu_{o,T} = P_T(|\bar{\nabla} f|^2)(o) \quad \forall f \in C^\infty(M). \quad (1.4)$$

We also let $H_{o,T}$ denote the generator of $\mathcal{E}_{o,T}$, i.e. $H_{o,T}$ is the unique selfadjoint operator on $L^2(M, \mu_{o,T})$ such that

$$\mathcal{E}_{o,T}(f, f) = (H_{o,T}^{1/2} f, H_{o,T}^{1/2} f)_{L^2(\mu_{o,T})} \quad \forall f \in \mathcal{D}(\mathcal{E}_{o,T}) = \mathcal{D}(H_{o,T}^{1/2}), \quad (1.5)$$

where $\mathcal{D}(\mathcal{E}_{o,T})$ and $\mathcal{D}(H_{o,T}^{1/2})$ denotes the domain of $\mathcal{E}_{o,T}$ and $H_{o,T}^{1/2}$ respectively.

With this notation we may rewrite Theorem 1.1 as follows:

Theorem 1.3 Fix $T > 0$ and $o \in M$ and choose $C \in \mathbb{R}$ such that $\rho(v, v) \geq -C(v, v)$ for all $v \in TM$. Then for all $f \in \mathcal{D}(\mathcal{E}_{o,T})$,

$$\mu_{o,T}(f^2 \log f^2) \leq 2\{(e^{CT} - 1)/C\} \mathcal{E}_{o,T}(f, f) + \mu_{o,T}(f^2) \cdot \log \mu_{o,T}(f^2). \quad (1.6)$$

Proof. For $f \in C^\infty(M)$, Eq. (1.6) is a special case of Eq. (1.2). Since by definition $C^\infty(M)$ is a core for $\mathcal{E}_{o,T}$, a simple limiting argument shows that (1.6) holds for all $f \in \mathcal{D}(\mathcal{E}_{o,T})$, see the last paragraph in the proof of Theorem 2 of Gross¹³. Q.E.D.

There are by now a number of proofs of Theorem 1.1 and its generalizations, see Bakry and Ledoux⁸, E. Hsu¹⁵, and F. Wang^{18,19}. All of these proofs follow the circle of ideas introduced by Bakry and Emery^{5,6}, see also Bakry^{1,2,3,4}. The main difference is the method of proof of the important intermediate inequality:

$$|\bar{\nabla} P_T f| \leq e^{CT} P_T |\bar{\nabla} f|. \quad (1.7)$$

(Note: this inequality follows easily from Theorem 3.4 of Donnelly and Li¹¹ and the Bochner-Weitzenböck formulas.) The proof we give below is essentially the one explained to us by Dominique Bakry with some modifications so as to avoid using (1.7) altogether. Although avoiding (1.7) is not a virtue, we hope the reader will find the proof given below a useful introduction to the paper of Bakry and Ledoux⁸.

2 Preliminaries

We will write (\cdot, \cdot) and ∇ for the induced metric and covariant derivative respectively on any of the vector bundles $T^{\otimes k}M \otimes (T^*M)^{\otimes l}$ for $k, l = 0, 1, 2, \dots$, where as usual $T^{\otimes 0}M = (T^*M)^{\otimes 0}$ is to be taken as the trivial vector bundle $M \times \mathbb{R}$. Also let $|\xi|^2 \equiv (\xi, \xi)$ for $\xi \in T^{\otimes k}M \otimes (T^*M)^{\otimes l}$. Note that with this notation for $f \in C^\infty(M)$, $\nabla f = df$ and $|\nabla f| = |\bar{\nabla} f|$. Following Bakry and Emery^{5,6} for $f \in C^\infty(M)$ let

$$\Gamma(f, f) \equiv \frac{1}{2}\{L(f^2) - 2fLf\} = |\nabla f|^2, \quad (2.1)$$

and

$$\Gamma_2(f, f) \equiv \frac{1}{2}\{L(\Gamma(f, f)) - 2\Gamma(f, Lf)\} = \frac{1}{2}L|\nabla f|^2 - (\nabla f, \nabla Lf). \quad (2.2)$$

It is well known (see Bakry and Emery^{5,6}) that Γ_2 is given explicitly by:

$$\Gamma_2(f, f) = |\text{Hess}f|^2 + \rho\langle \bar{\nabla} f, \bar{\nabla} f \rangle, \quad (2.3)$$

where $\text{Hess}f = \nabla df \in T^*M^{\otimes 2}$ is the Hessian of f .

Given $f \in C^\infty(M)$ and $T > 0$, let

$$F(t, m) \equiv (P_{T-t}f)(m). \quad (2.4)$$

Then F solves the backwards heat equation:

$$\partial F / \partial t = -LF/2.$$

A simple computation shows that

$$\frac{d}{dt}(P_t(F^2(t, \cdot)))(m) = P_t(\Gamma(F(t, \cdot), F(t, \cdot)))(m).$$

To simplify notation in the sequel, we will suppress the t and the m variables from the notation and write the above equation simply as

$$\frac{d}{dt}(PF^2) = P\Gamma(F, F). \quad (2.5)$$

A similar computation using this abbreviated notation gives

$$\frac{d}{dt}(P\Gamma(F, F)) = P\Gamma_2(F, F). \quad (2.6)$$

The following well known lemma shows that knowledge of Γ_2 determines ρ .

Lemma 2.1 For all $m \in M$ and $v \in T_m M$,

$$\rho(v, v) = \inf\{\Gamma_2(F, F)(m) : F \in C^\infty(M) \text{ s.t. } \bar{\nabla}F(m) = v\}. \quad (2.7)$$

Proof. (Sketch) Let $Q(v, v)$ denote the RHS of (2.7). By (2.3) it is clear that if $\bar{\nabla}F(m) = v$, then $\Gamma_2(F, F)(m) \geq \rho(v, v)$ and hence $Q(v, v) \geq \rho(v, v)$. So to finish the proof it suffices to show there exists $F \in C^\infty(M)$ such that $(\text{Hess}F)(m) = 0$ and $\bar{\nabla}F = v$. For then, by Eq. (2.3), $\Gamma_2(F, F)(m) = \rho(v, v)$ so that $Q(v, v) \leq \rho(v, v)$. To construct such a function, choose $F \in C^\infty(M)$ such that $F(p) \equiv \langle v, \exp_m^{-1}(p) \rangle$ for p near m , where $\exp_m : T_m M \rightarrow M$ is the exponential map at m . Q.E.D.

Before going to the proof of Theorem 1.1, it is instructive to first consider the simpler issue of spectral gaps for the operator $H_{0,T}$. This is the content of the next section.

3 Spectral gap inequalities

Remark 3.1 The maximum principle (or the fact that $(P_t f)(x)$ may be written as an integral relative to a probability measure) shows, for any $t > 0$, that the range of $P_t f$ is contained in an interval J provided the range of f is contained in J . This comment will be used in this section without further mention.

Lemma 3.2 Suppose $f \in C^\infty(M)$, $\phi : J \subset \mathbb{R} \rightarrow \mathbb{R}$ is a smooth function on an open interval $J \subset \mathbb{R}$. Assume $f(M) \subset J$ so that $\phi \circ f$ is also a smooth function on M . Fix $T > 0$ and $F(t, \cdot) \equiv P_{T-t} f$ (as in (2.4)) and set

$$\Psi(t, m) \equiv P_t(\phi(F(t, \cdot)))(m) = P_t(\phi(P_{T-t} f))(m)$$

for all $0 \leq t \leq T$ and $m \in M$. Then

$$d\Psi/dt = P\{\phi''(F)|\nabla F|^2/2\} \quad \text{for } t \in (0, T). \quad (3.1)$$

Proof. We compute:

$$\begin{aligned} d\Psi/dt &= P\{L\phi(F)/2 + \frac{d}{dt}\phi(F)\}. \\ &= P\{L\phi(F)/2 - \phi'(F)L F/2\}. \end{aligned} \quad (3.2)$$

Now

$$L\phi(F) = \Delta\phi(F) + Z\phi(F) = \Delta\phi(F) + \phi'(F)ZF,$$

and

$$\Delta\phi(F) = \text{tr}\nabla\{\phi'(F)\nabla F\} = \{\phi''(F)|\nabla F|^2 + \phi'(F)\Delta F\},$$

so that

$$L\phi(F) = \phi''(F)|\nabla F|^2 + \phi'(F)LF. \quad (3.3)$$

Eq. (3.1) follows from (3.2) and (3.3).

Q.E.D.

Theorem 3.3 (Spectral Gap) *Choose $C \in \mathbb{R}$ such that $\rho \geq -C(\cdot, \cdot)$. Then for all $f \in C^\infty(M)$ and $T > 0$*

$$P_T(f^2) - (P_T f)^2 \leq \{(e^{CT} - 1)/C\} P_T |\nabla f|^2. \quad (3.4)$$

Remark 3.4 *For $f \in L^2(\mu_{o,T})$, let $Qf = Q_{o,T}f \equiv f - (\int f d\mu) \cdot 1$ be orthogonal projection onto $\{1\}^\perp$. By an easy limiting argument (as discussed in Theorem 1.3), Theorem 3.3 implies*

$$\|Qf\|_{L^2(\mu_{o,T})}^2 \leq \{(e^{CT} - 1)/C\} \mathcal{E}_{o,T}(f, f) \quad \forall f \in \mathcal{D}(\mathcal{E}_{o,T}). \quad (3.5)$$

In particular we have:

$$\|Qf\|_{L^2(\mu_{o,T})}^2 \leq \{(e^{CT} - 1)/C\} (H_{o,T}f, f) \quad \forall f \in \mathcal{D}(H_{o,T}). \quad (3.6)$$

From this equation we conclude that the null space of $H_{o,T}$ is the constant functions and the spectrum of $H_{o,T}$ is contained in $\{0\} \cup [C(e^{CT} - 1)^{-1}, \infty)$. Hence Eq. (3.4) implies a spectral gap for $H_{o,T}$ which is bigger than or equal to $C(e^{CT} - 1)^{-1}$.

Proof of Theorem 3.3. Let F be as in (2.4) and take $\phi(x) = x^2$ in Lemma 3.2 to find that $\dot{\Psi} = P(|\nabla F|^2)$ (alternatively use (2.5)). By (2.6) we find

$$\ddot{\Psi} = P(\Gamma_2(F, F)) \geq -CP(|\nabla F|^2) = -C\dot{\Psi}, \quad (3.7)$$

where we have used the assumed bound on ρ and Eq. (2.3). It follows from (3.7) that $\frac{d}{dt} \log \dot{\Psi} \geq -C$ and hence $\log \dot{\Psi}|_t^T \geq -C(T-t)$. Thus

$$\dot{\Psi}(t) \leq \dot{\Psi}(T)e^{C(T-t)}.$$

Integrating this last equation over $[0, T]$ gives $\Psi(T) - \Psi(0) \leq \dot{\Psi}(T)(e^{CT} - 1)/C$, from which (3.4) follows, since $\Psi(T) = P_T f^2$, $\Psi(0) = (P_T f)^2$ and $\dot{\Psi}(T) = P_T(|\nabla f|^2)$. Q.E.D.

The following corollary is a weak version of Toponogov's theorem, see Theorem 9 on p. 82 of Chavel.⁹ Toponogov's theorem gives an estimate on

the first eigenvalue of Δ in terms of C and the dimension of the manifold M . In the original proof of this theorem one has to make use of the estimate $|\text{Hess}f|^2 \geq (\Delta f)^2/n$, where $n = \dim(M)$, instead of throwing it away like in Eq. (3.7). Presumably there should be a way to improve the spectral gap inequality (3.4) by making use of $|\text{Hess}f|^2 \geq (\Delta f)^2/n$ to obtain the original Toponogov's theorem.

Corollary 3.5 (Spectral Gap for the Volume Form) *Let ω denote the normalized volume measure on M . Assume $Z = 0$ and there is a constant $k > 0$ such that $\rho(\cdot, \cdot) = \text{Ric}(\cdot, \cdot) \geq k(\cdot, \cdot)$. Then*

$$\omega(f^2) - (\omega(f))^2 \leq \frac{1}{k} \omega(|\nabla f|^2), \quad (3.8)$$

where

$$\omega(f) \equiv \int_M f d\omega.$$

Proof. Let $o \in M$ be fixed. Since M is compact P_T is ergodic in the sense that $\omega(f) = \lim_{T \rightarrow \infty} (P_T f)(o)$ for all $f \in C^\infty(M)$. The proof is completed by letting $T \rightarrow \infty$ in Theorem 3.3 keeping in mind that $C = -k < 0$. Q.E.D.

4 Proof of the logarithmic Sobolev inequality

Before giving a proof of Theorem 1.1 let us state the analogue of Corollary 3.5 for logarithmic Sobolev inequalities. Again this corollary was explained to us by D. Bakry.

Corollary 4.1 (Bakry and Emery^{5,6}) *Let ω denote the normalized volume measure on M . Assume $Z \equiv 0$ and there is a constant $k > 0$ such that $\rho(\cdot, \cdot) = \text{Ric}(\cdot, \cdot) \geq k(\cdot, \cdot)$. Then*

$$\omega(f^2 \log(f^2)) \leq \frac{2}{k} \omega(|\nabla f|^2) + \omega(f^2) \cdot \log \omega(f^2). \quad (4.1)$$

Proof. Following the proof of Corollary 3.5, let $T \rightarrow \infty$ in Theorem 1.1 keeping in mind that $C = -k < 0$. Q.E.D.

Remark 4.2 *For compact manifolds it is always possible to prove that (4.1) holds for some constant $k > 0$, see for example Rothaus¹⁶. In fact it is known from the pioneering work of L. Gross¹³ that classical Sobolev inequalities imply logarithmic Sobolev inequalities. In this context see Deuschel and Stroock¹⁰, Exercise 6.1.91. It is also possible to prove this fact using Theorem 1.1 and a Lemma of Holley and Stroock¹⁴, see also Section II of Stroock¹⁷.*

The proof of Theorem 1.1 will be given after some preparatory results.

Lemma 4.3 Keeping the notation in Lemma 3.2, we have

$$\begin{aligned}\ddot{\Psi} &= P\left[\frac{1}{4}\phi^{(4)}(F)|\nabla F|^4 + \frac{1}{2}\phi''(F)\Gamma_2(F, F)\right] \\ &\quad + P[\phi^{(3)}(F)(\nabla^2 F, \nabla F \otimes \nabla F)].\end{aligned}$$

This equation combined with (2.3) gives:

$$\begin{aligned}\ddot{\Psi} &= P\left(\frac{1}{4}\phi^{(4)}(F)|\nabla F \otimes \nabla F|^2 + \frac{1}{2}\phi''(F)\{|\nabla^2 F|^2 + \rho(\vec{\nabla} F, \vec{\nabla} F)\}\right) \\ &\quad + P(\phi^{(3)}(F)(\nabla^2 F, \nabla F \otimes \nabla F)).\end{aligned}\quad (4.2)$$

Proof. Because $\partial\phi(F)/\partial t = \phi'(F)LF/2$ and Eq. (3.3),

$$\frac{1}{2}L\phi(F) + \frac{d}{dt}\phi(F) = \phi''(F)|\nabla F|^2/2. \quad (4.3)$$

We also have

$$\begin{aligned}L(fg) &= \text{tr}\nabla(f\nabla g + g\nabla f) + Zf \cdot g + f \cdot Zg \\ &= \text{tr}\{2\nabla f \otimes \nabla g + f\nabla^2 g + g\nabla^2 f\} + Zf \cdot g + f \cdot Zg \\ &= Lf \cdot g + fLg + 2(\nabla f, \nabla g),\end{aligned}$$

and

$$\frac{1}{2}L|\nabla F|^2 + \frac{d}{dt}|\nabla F|^2 = \frac{1}{2}L|\nabla F|^2 - 2(\nabla F, \nabla(\frac{1}{2}LF)) = \Gamma_2(F, F).$$

Therefore

$$\begin{aligned}2\ddot{\Psi} &= P\left\{\frac{1}{2}L[\phi''(F)|\nabla F|^2] + \frac{d}{dt}[\phi''(F)|\nabla F|^2]\right\} \\ &= P\left\{\left(\frac{1}{2}L[\phi''(F)] + \frac{d}{dt}\phi''(F)\right)|\nabla F|^2\right\} \\ &\quad + P(\phi''(F)\left\{\frac{1}{2}L|\nabla F|^2 + \frac{d}{dt}|\nabla F|^2\right\}) \\ &\quad + P(\nabla\phi''(F), \nabla|\nabla F|^2) \\ &= P\left(\frac{1}{2}\phi^{(4)}(F)|\nabla F|^4 + P(\phi''(F)\Gamma_2(F, F))\right) \\ &\quad + P(\phi^{(3)}(F)\nabla F, \nabla|\nabla F|^2),\end{aligned}$$

wherein we have used Eq. (4.3) with ϕ replaced by ϕ'' . The result follows from this equality, since

$$\begin{aligned} (\nabla F, \nabla |\nabla F|^2) &= \sum_i 2\nabla_{e_i} F \cdot (\nabla_{e_i} \nabla F, \nabla F) \\ &= \sum_{ij} 2\nabla_{e_i} F \cdot (\nabla^2 F \langle e_i, e_j \rangle) \cdot \nabla_{e_j} F \\ &= 2(\nabla^2 F, \nabla F \otimes \nabla F), \end{aligned}$$

where $\{e_i\}_{i=1}^{\dim(M)}$ is any local orthonormal frame of TM . Q.E.D.

In order to make use of the last computation we will need the following elementary lemma.

Lemma 4.4 *Suppose that $(V, (\cdot, \cdot))$ is an inner product space of dimension larger than or equal to one and $a, b, c \in \mathbb{R}$. Then*

$$a(x, x) + b(x, y) + c(y, y) \geq 0 \quad \forall x, y \in V \quad (4.4)$$

iff

$$a \geq 0, c \geq 0, \quad \text{and} \quad b^2 \leq 4ac. \quad (4.5)$$

Proof. Assume that (4.4) holds. Choose $x \in V$ such that $|x| \equiv \sqrt{(x, x)} = 1$ and set $y = kx$, where $k \in \mathbb{R}$. Then (4.4) implies that $p(k) \equiv a + bk + ck^2 \geq 0$ for all $k \in \mathbb{R}$. This clearly implies that $a, c \geq 0$ and $b^2 - 4ac \leq 0$, since otherwise p would have two distinct real roots and hence $\min_k p(k) < 0$. Hence (4.4) implies (4.5).

Now assume that (4.5) holds, then as above the polynomial $q(k) = a - bk + ck^2$ is nonnegative. Hence if $|x| \neq 0$, then

$$\begin{aligned} a(x, x) + b(x, y) + c(y, y) &\geq a|x|^2 - |b||x||y| + c|y|^2 \\ &\geq a|x|^2 - |b||x||y| + c|y|^2 \\ &= |x|^2 q(|y|/|x|) \geq 0. \end{aligned}$$

Hence (4.5) implies (4.4). Q.E.D.

Corollary 4.5 *Let $f \in C^\infty(M)$ and $\phi : J \rightarrow \mathbb{R}$ be as in Lemma 3.2. Assume*

$$\phi^{(4)} \geq 0, \phi'' \geq 0, \quad \text{and} \quad 2[\phi^{(3)}]^2 \leq \phi'' \cdot \phi^{(4)}, \quad (4.6)$$

then

$$\ddot{\Psi} \geq P\left(\frac{1}{2}\phi''(F)\rho(\bar{\nabla}F, \bar{\nabla}F)\right). \quad (4.7)$$

Proof. An application of Lemma 4.4 with $V = TM \otimes TM$, $x = \nabla F \otimes \nabla F$, $y = \nabla^2 F$, $a = \frac{1}{4}\phi^{(4)}(F)$, $b = \phi^{(3)}(F)$, and $c = \frac{1}{2}\phi''(F)$ shows that the conditions in (4.6) implies that

$$\frac{1}{4}\phi^{(4)}(F)|\nabla F \otimes \nabla F|^2 + \frac{1}{2}\phi''(F)|\nabla^2 F|^2 + \phi^{(3)}(F)(\nabla^2 F, \nabla F \otimes \nabla F) \geq 0.$$

Using this inequality in (4.2) gives (4.7).

Q.E.D.

Theorem 4.6 Choose $C \in \mathbb{R}$ such that $\rho \geq -C(\cdot, \cdot)$. Let $f \in C^\infty(M)$ and $\phi : J \rightarrow \mathbb{R}$ be functions as in Corollary 4.5. Then

$$P_T(\phi(f)) - \phi(P_T(f)) \leq \{(e^{CT} - 1)/2C\}P_T(\phi''(f)|\nabla f|^2). \quad (4.8)$$

Proof. As in Lemma 3.2, set $F(t, m) \equiv (P_{T-t}f)(m)$ and $\Psi(t) \equiv P_t(\phi \circ F(t, \cdot))$. Then by Corollary 4.5, Eq. (3.1), and the assumption that $\rho \geq -C(\cdot, \cdot)$, it follows that

$$\ddot{\Psi} \geq -C\dot{\Psi}. \quad (4.9)$$

As in the proof of Theorem 3.3, this implies

$$\Psi(T) - \Psi(0) \leq \dot{\Psi}(T)(e^{CT} - 1)/C.$$

This last equation implies Eq. (4.8), since $\Psi(T) = P_T(\phi(f))$, $\Psi(0) = \phi(P_T f)$ and $\dot{\Psi}(T) = P_T(\phi''(f)|\nabla f|^2)/2$ by Eq. (3.1). Q.E.D.

Lemma 4.7 The solutions to the differential equation

$$2[\phi^{(3)}]^2 = \phi'' \cdot \phi^{(4)} \quad (4.10)$$

are

$$\phi(x) = Bx^2 + Cx + D, \quad (4.11)$$

or

$$\phi(x) = A^{-2}(Ax + B) \log |Ax + B| + Cx + D \quad (4.12)$$

for some constants A, B, C , and D , such that $A \neq 0$.

Proof. Suppose that ϕ is a solution to (4.10) and set $k(x) \equiv \phi''(x)$. Then k solves the ODE:

$$2[k']^2 = k \cdot k''. \quad (4.13)$$

One way to solve this equation is to have $k' \equiv 0$, in which case $k(x)$ has a constant value, i.e. $\phi''(x)$ is a constant. Hence $\phi(x) = Bx^2 + Cx + D$ for some constants B, C , and D .

Now assume that $k' \neq 0$ and we are on an interval in \mathbb{R} where $k \neq 0$. In this case Eq. (4.13) may be written as:

$$2k'/k = k''/k'. \quad (4.14)$$

Integrating this last equation gives:

$$\log |k'| = \log |k|^2 + \text{const.}$$

and hence $k' = \bar{A}k^2$, for some constant \bar{A} . From this differential equation we learn that $k(x) = (Ax + B)^{-1}$ for some constants A and B . We may and do assume that $A \neq 0$, otherwise we will be back in the case where $k' \equiv 0$. Integrating the equation

$$\phi''(x) = k(x) = (Ax + B)^{-1}$$

gives (4.12).

Q.E.D.

Remark 4.8 Let $\phi(x) = x^2$, then ϕ verifies (4.6). Hence Theorem 3.3 easily follows from Theorem 4.6.

Proof of Theorem 1.1. Let $B > 0$, and define $\phi_B(x) \equiv (x + B) \log(x + B)$, for $x > -B$. Then ϕ_B verifies (4.6) on $(-B, \infty)$ and $\phi_B''(x) = (x + B)^{-1}$. Therefore by Theorem 4.6, for a non-negative function $f \in C^\infty(M)$,

$$P_T(\phi_B(f)) - \phi_B(P_T(f)) \leq \frac{1}{2} \{(e^{CT} - 1)/C\} P_T((f + B)^{-1} |\nabla f|^2). \quad (4.15)$$

Now suppose that $f \in C^\infty(M)$ is arbitrary. Apply (4.15) with f replaced by f^2 to find:

$$\begin{aligned} P_T(\phi_B(f^2)) - \phi_B(P_T(f^2)) &\leq \frac{1}{2} \{(e^{CT} - 1)/C\} P_T(4(f^2 + B)^{-1} f^2 |\nabla f|^2) \\ &\leq 2 \{(e^{CT} - 1)/C\} P_T(|\nabla f|^2). \end{aligned} \quad (4.16)$$

By the dominated convergence theorem,

$$\lim_{B \downarrow 0} P_T(\phi_B(f^2)) = P_T(f^2 \log f^2),$$

where $0 \log 0 \equiv 0$ since $\lim_{B \downarrow 0} \phi_B(0) = 0$. Hence letting $B \downarrow 0$ in Eq. (4.16) shows that Eq. (1.2) holds which proves Theorem 1.1. Q.E.D.

Acknowledgements

We are indebted to Dominique Bakry for explaining the heat kernel logarithmic Sobolev inequalities to us. The first author was partially supported by NSF Grant no. DMS 92 - 23177. The second author was holding an NAVF research scholarship of Norwegian Research Council. Both authors gratefully acknowledge the support and the hospitality of the Mittag Leffler institute where much of this work was done.

References

1. D. Bakry, Transformations de Riesz pour les semigroupes symétriques, Séminaire de Probabilités XIX, Lecture Notes in Math. 1123, p.130-174, Springer, 1985.
2. D. Bakry, Etude des transformations de Riesz sur les variétés riemanniennes à courbure de Ricci minorée, Séminaire de Probabilités XXI, Lect. Notes in Math. 1247, p. 137-172, Springer, 1987.
3. D. Bakry, La propriété de sous-harmonicité des diffusions dans les variétés, Séminaire de probabilités XXII, Lect. Notes in Math. 1321, p. 1-50, Springer, 1988.
4. D. Bakry, L'hypercontractivité et son utilisation en théorie des semigroupes, St-Flour Lecture notes in Lectures on Probability theory, Lecture Notes in Math. 1581, Springer 1994.
5. D. Bakry and M. Emery, Hypercontractivité de semi-groupes de diffusion, *Compte-Rendus* 299 (1984), 775-778.
6. D. Bakry and M. Emery, Diffusions hypercontractives, in Sem. de Probabilités XIX, Lecture Notes in Mathematics 1123, eds. Azema, J. and Yor, M. Springer-Verlag, New York, 1985, pp. 177-207
7. D. Bakry and M. Ledoux, private communication in November of 1994 at the 1994 Taniguchi Symposium, held in England.
8. D. Bakry and M. Ledoux, Lévy-Gromov isoperimetric inequality for an infinite dimensional diffusion generator, Summer 1995 preprint.
9. Isac Chavel, "Eigenvalues in Riemannian Geometry," Academic Press, Inc., Orlando/San Diego, 1984.
10. J-D. Deuschel and D. W. Stroock, "Large Deviations," Academic press, Boston/ San Diego/ New York/ Berkeley/ London/ Sydney/ Tokyo/ Toronto, 1989.
11. Harold Donnelly and Peter Li, Lower bounds for the eigenvalues of Riemannian manifolds, *Michigan Math. J.* 29, (1982), 149-161.

12. B. K. Driver and T. Lohrenz, Logarithmic Sobolev inequalities for pinned loop groups, UCSD preprint, 1995.
13. L. Gross, Logarithmic Sobolev inequalities, *J. Math.* **97** (1975), 1061-1083.
14. R. Holley and D. W. Stroock, Logarithmic Sobolev inequalities and stochastic Ising models *J. Statist. Phys.* **46** (1987), 1159-1194.
15. Elton P. Hsu, Logarithmic Sobolev inequalities on path spaces, Northwestern Univ. preprint, Oct. 1994.
16. O. Rothaus, Diffusion on compact Riemannian manifolds and logarithmic Sobolev inequalities, *J. of Funct. Anal.*, **42** (1981), 102-109.
17. D. W. Stroock, Logarithmic Sobolev inequalities for Gibbs states, (in Lectures given at the 1st Session of the Centro Internazionale Matematico Estivo, held in Varena, Italy, June 8-19, eds. G. Dell'Antonio and U. Mosco) in 1992, in *Springer Lecture notes in Mathematics*, **1563** (1992), 194-228.
18. Feng-Yu Wang, On estimation of logarithmic Sobolev constant and gradient estimates of heat semigroups, 1995 preprint.
19. Feng-Yu Wang, Logarithmic Sobolev inequalities for diffusion processes with application to path space, 1995 preprint.